AP Calculus Name Pd.
Motion
LI, The height (in meters) of a projectile shot vertically upward from a point 2 meters above
ground level with an initial velocity of 24.5 m/s is i =2+24.5(-4.9/° affer t seconds.
a.) Find the velocity after 2 s and after 4s.

e = 94.5-9.8+ o L
\/(4\: -4.1 m/s

b.) When does the projectile reach its maximum height?
O=a4.5-9.¢¢ i O B

c.) What is the maximum height?

d.) When does it hit the ground?

e

e.) With what velocity does it hit the ground?
v (s) = a4 S=1.K(s)
z —a4.S 'pksu

2. If aball is thrown vertically upward with a velocity of 80ft/s, then its height after t
seconds is s =80r—16¢.
a.) What is the maximum height reached by the ball?
(=N ()= B0-32¢ s(2.5)=100L4

O:= %0-32¢  L3eiS .
b.) What is the velocity of the ball when it is 96 ft. abeve the ground on nts \vql up? mits“

way down? lo(12-56+0)=D  y(D):S(2)= b e
q (a'-‘-gDL-Hat'Z e Lt"S)(ﬁ ZJ»C’ g

t=3 M-?—"

"lot®- R0t + 9 =0

3. If arock is thrown vertically upwar‘
after t seconds is h=15(—1.861". '
a.) What is the velocity of the
Vit): h'= 15-3.72

b.) What is 1'he 7



4. A particle moves with position function: s=1'-d4r'~20¢" +20¢ (x;‘(f) gt
a.) At what time does the particle have a velocity of 20m/s D (e 2 3t~
¢*™3t-lo

V): (D)= 413-12£%- 4ok +20 B
: ‘j O %tt - e+2)

20 = Yid-12t2- 4ot F20
0= 431247 1Ot ST s
b.) At what time is the acceleration 02 What I the sugmficance of ThlS value 1?

Hie Peu"’"(_lt

2 s
D=V 2 1242-24L 40 5 it S:l-wamludg
O I?.t1 2”*'”0 & (NOX MU OF YNNI
gréehoshl o ‘elocity?
b e3.0811 see
(5. The cost, in dollars, of producing x yards of a certain fabric is
C(x)=1200+12x - 0.1x> +0.0005x" = darvearve oF 4—u«\-a\ G+

a.) Find the marginal cost function.

CON 1= 2X + 0015x"

b.) Find C'(200) and explain its meaning. What does it predict?

i - 3 Movrg na L Cosh GC
C(200)= 323 e Jolds of fbric h ¢3q/y,_,4
c.) Compare C(200) with the cost of manufacturing the 201" yard of fabrig. &
((201): 73632, 20 C""'io‘f; 32:‘;‘?’? rargoal ok
C(200)= 33600 343290- 3600 #3220 |

6 The cost function from production of a cornmod:'ry is
C(x) =339+25x-0. 09x? +0.0004x’
a.) Find and interpret C (100).

£ (X): 25 41€% + 001X

b.) Compare C'(100) wi. e N0
CLoN:$2558.03



